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Which of the f'ullnwinF led to the i
sf English Education in India 7

{, Charter Act of 1813

General Commiciee of Public Instructjon

1823 o
Orientalist and Anglicist I:L‘qzu.ﬂ;.-u,,.‘.:,‘_ﬁ:!lr

2.

a.

Select the correct ARSWET USINg the cogg Eiven
below :

ja} land2 enly

(k) 2only

(@) 1land3only

) 1,2andd

Which one of the following is an artifigia]

lake 7

(@) Kodaikanal (Tamil Nadu)
(k) Kolleru {Andhra Pradesh)
fc)  Nainital {Mtarakhand)
(d) Renuka (Himachal Pradesh)

with refercnee to Pradhan Mantri Kaushal

Vikas Yojana, consider the following

statements :

1. Tt is the flagship scheme of the Ministry
of Labour and Employment,

9. It among other things, will also impart
training in soft skills, entrepreneurship,
financial and digital literacy.

3 It aims to align the competencies of the
unregulated worldforce of the country to
the National Skill Qualilication

Framework.
Which of the statements given above isfare
correct !
fa) 1and 3 only
(h)  2only
(e} 2and3only
(dt 1,2 and3

(3-B)

In 1920, which of the following changed its
pame Lo “Swarajya Subha" 7

All India Home Rule League

o)

ihl Hindu Mahasabha

izl gouth Indian Liberal Federation
(d) The Servants of India Society

Which among the fellowing events happened

sarliest 7

a) Swami Dayanand established Arya
Samaj.

ib) Dinobandhu Mitra wrote Neeldorpan. -

Bankim Chandra Chattopadhyay wrote
Anandmath.

{c)

(d] Satyendranath Tagore became the first
Indian to succeed in the Indian Ciwvil
Servicesz Examination,

Which of the following isfare the possible
congequence/s of heavy sand mining in
riverbeds ?

1. Decreased salinity in the river

2, Pollution of groundwater
3. Lowering of the water-table

Select the correct answer using the code given
below :

(al 1only

(b) 2 and3 only
() 1and3only
(d) 1,2and3



7.  With reference to agricultural g, consider | 9,
the following statements

1. A high content of 0rganic mygp, |
drastically reduces s waier o\
capacity-

2. Soil does not play any role in ¢, sulphur
cyele.

3. lrrigation over & period of time cap
contribute to the salinization of —
agricultural lands.

Which of the statements given above jsiare

correct !

fa) 1and 2 only

(b 3 only

(¢ 1and3only

(dd 1,2and3

10.
B.  The Partnership for Action on Green Economy
{PAGE), a UN mechanism to assist countries
transition towards greener and more inelusive
economies, emerged at
() The Earth Summit on Sustainable
Development 2002, Johannesburg
(b) The United Nations Conference on
Sustainahle Development 2012,
Rio de Janeiro
() The United Nations Framework
Convention on Climate Change 2015,
Paris
(d) The World Sustainable Development
Summit 2016, New Delhi
CYRF-F-TXLI (5-B)

dE

#3D printing” haes applications in which of
the following 7

1.  Preparation of confectionery items
2. Manufacture of bionic ears

3,  Automotive industry

4. Reconstructive surgeries

5. Data processing technologies

Select the correct answer using the code given

Below :

{a) 1,3 and 4 only
(hy 2, 3and5only
(¢} 1and4only

(@) 1,23 4and5

Congider the following statements -

1. The Barren Island voleane is an active
voleano located in the Indian territory.

2. Barren Island lies about 140 km east of
Great Nicobar.

3. The last time the Barren Island volcang
erupted was in 1991 and

remained inactive since then,

it has

Which of the statements given above izfare
correct 7

(a) 1only
(b) 2and3
(€} 3only
(d)  1andsg



11. Why is a plant called Pmmﬂf'sjuﬁﬂum often | 13- sMomentum for Change : Climate Neutral

i i = initiative lnone
mentiened in news 3 Mow" 12 a1 hed by

. {a)} The Intergovernmental Panel om
(a) Its extract is widely used in cogpag; e Climate Change

(k) It tends to reduce the hiudiﬂ.mity i the by The LUINLEF Secretariat

areq in which it grows, (¢) The UNFCCC Secretnriat

() The World Meteorological Organization
(c) s extract is used in the synthesia - of

' 14. With reference to educational institutions

sticides, _ :
i during colonial rule in India, consider the
(@ None of the above following pairs :
Institution Founder
1.  Sanskrit College ~ —  William
at Benaras Jones
2 Caleutta Madarsa —  Warren
12, Consider the following statements : Hastings
3.  Fort William —  Arthur
1. Most of the world's coral reefs are in College Wellesley
tropical waters, Which of the pairs given ahove isfare correct 7
{a) land2
2 More than one-third u_i't.hr-: world's coral & 2only
reefs are located in the territories of () land3
Australia, Indonesia and Philippines, (dl 3 only
3. Coral reefs host far more number of 18 [Considesihe Gllowing puits:
animal phyla than those hosted by Regions sometimes Country
et mentioned in news
tropical rainforests. ; .
1. Catalonia — Gpain
Which of the statements given above is‘are 2. Crimea — Hungary
3. Mind —  Philippi
correct 7 INGAnan ilippines
4, Oromia — Niperia
ta) 1and 2 only Which of the pairs given above are correctly
matched 7
(b} 3 only @ L 2and3
(e} 1and3only (b} 3 and 4 only
q (e} 1and3only
1 I
(d) 1,2and4 @) 2and 4 only

CYRF-F-TXL| (T-B)
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16.

17.

18.

CYRF-F-TXLI

ich one O e Dlowing Btatements

Wh
ribes the meap; fig

porrectly desc
tender money 3

of legal

Thﬂ mﬂl‘lE} 'I.l.l'hl'l:h Ilﬂ '.E'rl[lll-mrl 1n tuurt_s

{a)

) The money which a creditor {g under
comopulgion to accept in Boltleiment of
his claims

o The hank money in the form of cheques
drafts, hills of exchange, ote, r

(dy The metallic money in eirculation in 5

tnuntl'}'

if a commodity is provided free to the public
by the Government, then

{a}) the ﬂpp[rrl.llni't.jp‘ cost is zero.

20.
by the ppportunity cost is ipnored.
¢} the gpportunity cost is transferred from
the consumers of the product to the
{ax-paying publie.
{d) the apportunity cost i3 transferred from
the consumers of the product to the
Government.
21.
Increase in ahsolute and per capita real GNP
do not connote a higher level of economic
development, if
(a) industrial output fails to keep pace with
agricultural output.
(b) agricultural output fails to keep pace
with industrial output.
{c) poverty and unemployment increase.
{d) imports grow faster than exports.
(9-B)

11.

— e

Congider the following stalements

fuman eopital formotion as a concept is

hotter explained in terms of a process which

enables

1 in.r]i'..'i[]UﬂJﬂ of & country Lo pecumulate

mare capital,

A ipereasing the knowledge, skill levels
and capacities of the people of the
counkbry.

g, geeumulation of tangrible wealth.

4,
Which of the statementa given ahove isfare

correct ¥

qeeumulation of intangible wealth. -

fay 1 and 2
i} 2 only

el 2 and 4
(dy 1,3andd

Deepite being a high saving economy, capital
[rmation may mef Tesult in significant
ipcrease in cutput due to

fa] weak administrative machinery

b1 illiteracy

(c}  high population density

id}  high eapital-output ratie

After the Santhal Uprising subsided, what
wasfwere the measure/measures taken by the
colonial government 7

1. The territories  called
Paraganas” were created.

2. It hecame illegal for a Santhal to
transfer land to a non-Santhal,

Select the correet answer using the code given
below :

(a)  lonly

(h)  Zonly

(¢) Both1and2
(d)  Meither 1 nor 2

‘Santhal



22.

23.
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Feonomically, one of the rosuly

! o e s
, H I.I:“‘L

(a) increase 0 the expgy
handicrafts Indian

b}  growth in the number o Indian
factories wned
commetcialization of [nd;. .
rapid increase in the

od) p urbnnp ]:I:}pu]"{.inn

If the President of India exercises pio pow 26.

. = or

Constitution in Tespect of a particular Syq,

then ,

(a) the Assembly  of the Sga, g
automatically dissolved,

() the powers of the Legislature of that
State shall be exercisable by or under
the authority of the Parliament.

ey Article 191s suzpended in that State.

{(d) the President can make laws relating to
that State.

Consider the following pairs : 47,

Craft Heritage n_i*:

1. Puthukkuli shawls  — Tamil Nadu

9. Sujni embroidery — Maharashtra

3. Uppada Jamdani saris — Karnataka

Which of the pairs given above isfare correct ?

(a) lonly

ib) land?2

el Jonly

d} 2and3

(11-B)

In which of the fullowing areas can GFS
technology be used ?

1.  Mobile phone eperations

9 Banking operations

7. Controlling the power Hrjd:ﬁ

Bplect the correct answer using the code given
below :

{a) Lonly

() 2and 3 only

t¢) 1anddonly

(d) 1,2and3

Cynsider the following statements :

1,  The Reserve Bank of India manages and
gervices Government of India Securities

but not any State Government
Securities,
.4 Treasury hills are issued by the

Govermunent of Indis and there are no
treasury bills issued by the State
(rovernments.

9.  Treasury bills offer are issucd at a
dizcount from the par value.

Which of the statements given above isfare

porrict 7

ta} 1and 2 only
(b} 3 only

(el 2and 3 only
{d) 1,2and3

Consider the following statements :
1. The Earth’s magnetic field has reversed
every few hundred theusand years.

2, When the Earth was created mere than
4000 million years ago, there was 54%
oxygen and no carbon dioxide.

3.  When living organisms originated, they
modified the early atmosphere of the

Earth,
Which of the statements given above isfare
correct 7
(@) 1only
(b} 2 and 3 only
(el 1and 3 only
d} 1, 2and3



terms
s * sofmetim -Pﬁt” and | 30, The
EternalBlue’ 5 ®8 Mentioneg ;, tha
news recently are related to
(a} Exoplanets
{h} Cryptoturrency (w)
) Cyber attacks
idy  Mini zatellites
29, Wi[]'.l mfgrﬁl}l‘.‘& to ﬂ'lE- Eh‘cumﬁtantm in Indiﬂ.ﬂ
b}
agriculture, the concept of “Conservation [
Agriculture” assumes significance. Which of
the following fall under the Conservation
Agriculture 7
1. Avoiding the monoculture practices -
a9 Adopting minimum tillage
3. Avoiding the cultivation of plantation (e
Crops
4.  Using crop residues to cover soil surface
5. Adopting spatial and tl.?‘.ﬂpﬂ]-"ﬂl CTOp
gﬂquenm’_ugfcrqp ]‘nt.ll‘t.El‘.'l.llﬂ
Select the correct answer using the code given
below ;
{d)
fa) 1,3andd
by 2, 3,4andb
ey 2,4andb
idy 1,2,3and5
(13-B)

CYRF-F-TXLI

“WannoCry,

term “sixth  mass  extinction/sixth

extinction” is often mentioned in the news in

the context of the discussion of

Widespread monoculture practices in
agriculture and large-scale commercial
farming with indiscriminate uvse of
chemicals in many parts of the world
that may result in the lpss of good

pative ecosyslems,

Fears of a possible collision of a
meteorite with the Earth in the near
fature in the manner it happened
65 million years ago that caused the
gpecies

mass extinction of many

including those of dinosaurs.

Large scale cultivation of genetically
modified crops in many parts of the
world and promoting their cultivation in
other parts of the world which may
capse the disappearance of good native

crop plants and the loss of food
biodiversity.

Mankind's over-exploitation/misuse of
natural resources, fragmentationfoss of

habitats, destruction  of

natural

eengystems, pollution and global climate

change.
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Consider the following events :

1. The first democratically slectad

communist party govornment formed in
a State in India.

9 [ndia’s then largest bank, Imperial
Bank of Indig’, wos renamed ‘ggie
Bank of India’.

3. Air India was nationalised and beeame
the national carrier.

4, Goa became a part of independent
India.

which of the following iz the correct
chronological sequence of the above events ?

(al 4-1-2-4
i J-2-1-4
el 4-2-1-13

dy 3-1=-2-4

Right to Privacy is protected as an intrinsic
part of Right to Life and Fersonal Liburty.
Which of the following in the Constitution of
India correctly and appropriately imply the
above statement 7

{a) Article 14 and the provisions under the
4™ Amendment to the Constitution

{b) Article 17 and the Directive
Prineiples of State Policy in Part v

e] Article 21 and the freedoms puaranteed
in Part I1I

(d) Article 24 and the provisions under the
44" Amendment to the Constitution

33.

(15-8)

Consider the following
1. Arecanut

g Barley

3, Coffee

4  Finger millet

f. Groundout

G Sesamum

7. Turmeric

The Cabinet Committee on Economic Affairs
has announced the Minimum Support Price
for which of the above 7

fa) 1,2,3 and 7 only
b} 2,4, 5and 6 only
(¢ 1,3,4,5and 6 only

fdy 1,2, 3,45, 6and?

In which one of the following States is Pakhui
Wildlife Sanctuary located ?

{a) Arunachal Pradesh
b} Manipur
{e)  Meghalaya

{d] Wagaland



35.

d6.
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With reference to Indig’y atel;
vehicles, ennsider the followyi gy, mltﬁ launch
1] :

1 PELVE launch the EEtE‘]l]tEE nts
Earth resources Monitar UBef] fop
GELVs are designeq mﬂ-lnl E Wherong
eominunication sate]ljteg, ¥ to ] launey

9 Satellitea launched by PSLy
remain Fﬂrlﬂunnntt}. fixed i BPpeay 1
position in the sky, ng s the BEMn

particalar location py Eart},

3.  GSLV Mk II1 iz 4 four.
vehicle with the fipg i
using solid rockpt

Which of the statements given above

iafare
correct 7

{al 1lonly

(h) 2and3

fc} land2

(d} 2 only

With reference to the governance of P"Jhliit

sector banking in India, consider theo following

statements :

1.  Capital infusion into public sector hanks
by the Government of India has steadily
increased in Lhe last decade,

2. To put the public sector banks in order,
the merger of associate banks with the
parent State Bank of India has been
affected.

Which of the statements given above isiare

correct 7

{a) 1only

(b} 2 only

(e} Bothland?2
(d] Neither 1 nor 2

a17.

(17 -B)

35,

Consider the following jtemg :

1. Cereal grains hylled

2, Chicken eggs conked

3. Fish processed and eanpeq

4. Newspapers  containing  advertising

material

Which of the above jtamg isfare exempted
under GST (Gooda and Services Tax) ?

{a} lonly

(b} 2and 3only
(e} 1, 2and 4 only
d) 1,2, 3and4

Consider the following statements -

1. The definition of “Critical Wildlife
Habitat" is incorporated in the Forest /
Rightz Act, 2008,

2. For the first time in India, Baigas have
been given Habitat Rights, 4

4, Union Ministry of Environment, Forest
and Climate Change oflicially decides

and declares  THabitat Riphts for
Primitive and Vulnerable Tribal Groups
_in any part of India.

Which of the statements given above isfare

correct ?

(a) 1and2only

(b) 2 and 3 only

(e} 3 only

(d) 1,2and3



g9, Consider the following :
41. Consider the following atatements

1 Birds
- 1. Inthe first Lok Sabha, the single Jargest
g, Diist blowing party in the opposition was the
3, Rain Swatanira Party,
4. Wind blowing 2 [n the Lok Sabha, a “Leader of the
‘ Opposition” was recognised for the first
Which of the above spread plant diseasag 7 time in 1069,
() 1and3enly 5. In the Lok Sabha, if a party does not
by 3and 4 only have a minimum of 75 members, its
leader cannot be recognised as the

{c) 1, 2 and 4 only
(dy 1,2 3and 4

Leader of the Opposition.

correct 7

(a} 1and3enly

40, With reference to organic farming in Tndia, ) 2 only

consider the following statoments -
(c] 2 and3only

1. 'The National Programme for Organic
Production’ (NPOP} iz operated under
the guidelines and directions of the
Union Ministry of Rural Development,

(d} 1,2and3

42, Which of the following leaf modifications

2.  The Agricultural and Processed Food
,m:n:ur[:s} in the deserl areas to inhibit water

Products Export Development

Authority’ (APEDA) functions as the loss ?
Setrebuont e e Jngamnbon of 1.  Hard and waxy leaves
NPOP.

2. Tiny leaves

3. Bikkim has become India's first fully
organic State, 3. Thorns instead of leaves

. . Se i :
Which of the statements given sbove isfare lect the correct answer using the code given

correct ? below ;

(a) 1and2only {(a) 2and 3 only
) 2and 3 only (b} 2only

e} 3only {(c) 3 only

({d) 1,2andd (d) 1,2and3

CYRF-F-TXLI (19-8)
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